tres fracciones, deicmales, orden de operaciones
con paréntesis

B8 ¥

Nombre: Fecha: Puntuacion:
3 1
4— -)yx2 3= 3(=—2,5 =
( 4) 2 (6 2 )
3 1 1
24,6 + =) = 5(=+=)=
5 29 74 42
(4 2) (5 5)
S8y, 5(2.6+2) =
3 5
— 1

5(3,7+2,9) 3(2’2_’_5):
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tres fracciones, deicmales, orden de operaciones
con paréntesis

Nombre
3 299
4—-)x2 3= —
G-P*23 5
61
2(4,6 + — )
5 29 63
Z+ )= _—
(4 2 )5 = 20
g8 &2 143
(3+—-)+4=—+
3 5 30

5(3,7+2,9) = 33

Fecha: Puntuacion:

1
3z =25 = ()

74 42 8
Yy 4=—
(5 5) 5

5(2,6+2) = 23

32,2 + )——-
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